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AN M Jo e Mg, a b gl s andy | asine M e 2
SIm s Ker f oA oiladl sus 3

¢ Bugldl QLI G asies R QG R3 o o gl g (2

-1 1 3
N=%| 1 -1 3
6
1 2 O
. BasW Y3 h="fog S o) Toghas grnaly ¢ MoN stabl -

J4
TR eletdl cladll o F={(X.y 2)eR®, x =0} gl sladh (i
OLAS OLad> Y o X & (0,Y,2) 1Sl 0K o F ) sladll e (X, Y, Z) glasdl 1
F=(u,=(0,1,0),u,=(0,0,)) s dimF=2
R @ Flalolslad oo G=(e +6,+6;) sladll 0f o 2
G=(v=@L11D) s dimG=1
F+G=(u,=(0,1,0),u,=(0,0,1),v=(1,1,2))
FOG=R® taues ¢dim(F+G ) =3 . 5le F+G gsastl ainy Lom i v 5 U, 5 U, 2234l
DS Gl Lt bl f (@

f:R°=F ® G- R®
U U+ U, U, (u;eF, u,eG)
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Zeysx NG FU)=TF(xy.z) oK . R® bl U=(x,y.2) ;S .1

u=(xy,z)=u,+ u,=a(0,10)+4(0,01)+5(111) Ly
(x,y.2)=(0, a+6,B+5) < a=-X+Yy,f=—X+2,6=X

f(x.y.z2)=(-x+y)(01,0)+(—x+2)(0,01)=(0,—X+y,—X+2) wing
B oo L e f ekl Bgias M s 2
0O 0O
M=| -1 1 0
-1 0 1

oV oelazdl OF S Lt dlage M bsaall 3 a1 of sasYl anal 0l >
e es cdimImMf =rg f =rgM =2 a5}l g . IM 3 bl 09 Lugs (Lo OMizens
(B e foany b g f sbdly cdimker f =1t o
L il G e M asgially det M =0 Of dasl Ss

.Imf=F ker f =G (Imf s kerf o odladl ues 3
N o Busldl A3 gasias (2

D MAN skl Ol ]

0 1013 0 0 0
. 1 _ |1 1
M-N = 1 5 1 -1 3 3 3 0
-1 1 2 0 1 1 1
3 6 2
DB sl LY @ h="Ffog Lol bl 5le auy

h(x.y.2)=(feg)(xy2)=(0 3x-3y Sx+£y-32)
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